Equations & Inequalities Unit 1

Writing & Interpreting Expressions

Expression a mathematical statement involving numbers, variables, & operators
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E . Operation Words Examples
XpreSS|0nS - Addition the sum of, added to, plus, more than, 1. Anumber increased by 2
increased by, total, altogether, and 2. The sum of n and 2
verbal (words) 3042
. Subtraction less than, minus, subtracted from, the 1. The difference of a number and 2
& algebra|c (math) difference of, take away, taken from, 2. 2 less than a number
reduced by 3.n—2
Multiplication times, multiplied by, the product of, 1. The product of 0.6 and a number
percent of 2. 60% of a number
3. 0.6n
Division divided by, division of, quotient of, 1. The quotient of a number and 5
divided into, ratio of, 2. Anumber divided by 5
3 n+Serf

|nterpret explain the meaning in context

13. Yolanda is buying supplies for school. She buys n packages of pencils at $1.40 per package and m pads of
paper at $1.20 each. What does each term in the expression 1.4n + 1.2m represent? What does the entire
expression represent?
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Equations & Inequalities Unit 1

Solving Equations

Equation a mathematical statement that two expressions are equal

To solve: find the value of the variable by
performing inverse operations
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Literal Same steps! Just weirder answers.
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20. Which is a possible way to rewrite the equation y = 3x + 3b to solve for b?
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Equations & Inequalities

Solving Word Problems

Unit 1
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24. Maggies brother is 3 years younger than twice her age.The sum of their ages is 24.
How old is Maggie?

W = Haw oM 15 w%.'ﬂ- Maggie s ng = X
T -7 raggie = X gm=24
brother = 2X=5
S>> x+(2%?) =24
E - l X"Q)('f- : 124 - (W k.
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Equations & Inequalities

Solving Inequalities

Unit 1

To solve:
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Of ener > less

Creating Inequalities from Verbal Descriptions

An inequality is a that comp two expressions that are not strictly equal by using one of the
following inequality signs.

< is less than

< is less than or equal to

= is greater than

= is greater than or equal to

# is not equal to

You have probably seen a sign at an amusement park saying something like, “You must be at least 48 inches tall to ride
this ride” This statement could be written as h > 48 in., where h represents the height of a person allowed to ride.
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Solve each inequality.
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Equations & Inequalities Unit 1

Compound Inequalities

L |opeN CIRCL=<,>  CLRED=<2

I;\qwh‘h ’5 Solving Compound Inequalities Involving AND

\\ o 4 Combining two or more simple inequalities forms a compound inequality. The graph of a compound inequality
C mhd involving AND is the intersection, or the overlapping region, of the simple inequality graphs.
d Inequa D
Words Algebra
All real numbers greater than 2 x>2ANDx < 6
AND less than 6 2<x<6

All real numbers greater than or equal to 2
AND less than or equal to 6

x>2ANDx<6
X

Solving Compound Inequalities Involving OR

The graph of a compound inequality involving OR is the union, or the combined region, of the simple
inequality graphs.

All real numbers less than 2
OR greater than 6

All real numbers less than or equal to 2 e e e e e B o
OR greater than or equal to 6 — = 012 3 456 7 8 910

YourTurn
Solve each compound inequality and graph the solutions.
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